EECS 360 Short Quiz #2

Signal and System Analysis
February 21, 2012 K £Y

Name:

Open book, open notes, no calculator. Be neat, write legibly. For full credit you must show all work and justify each answer,
You may write on the both sides of the paper, and use additional sheets of paper if needed.

1. (25 %) When the unit step function, u(t), is applied as the input to an LTI system, the output produced by the system
is 5(t) = {1 — e~*)u(t). Determine the impulse response of the system, h(t).
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2. (35 %) For each of the following impulse responses, determine if the system is (i) memoryless, (ii) causal, and (iii)
stable:
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3. (40 %) The input to an LTI system is () = 1.5rect((t — 0.5)/5). The impulse response of this LTT system is
h(t) = 2rect{(t — 0.5)/3).

(2) Graph z(t) and h{t). 5(1&)

(b) At what time does the ocutput, , “tumn on™?

(c) At what time does the output] “tl.lrnu= 7

(d) What is the output, y{¢)? [ You may gge ur answer as a graph, or as a function, whichever you prefer.]
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